33828.2
33828.2

goooono NYY71054+NTS90150
00 LED4000_70 225 x1 225.0 Im
oooo KO152447 (6) DJ 1
oggon Bz1
gl 80 % 70 % 50 % 30% 0 %
0000 106 % |U
0o |7ols0]30]10]70]50]30]10]70]50]30[10]70]50[30]10]0%
oooo 0% |0]p 10 % 10 % 10 % 10% |ou
oooo 106 % [poo 000 ( X0.01) ZCM
T 0.67 0.6 hogiosiodiodioRmospodiosiooshodiozioshiostiosdiodios
100 1 0 63 0.8 hodrormoetosodioostostosioatostoaorostosoados
1, e 1.0 p1otostohochodiogiostoshosioosioshoroshoshoshod
' 1. 25h1thodhoociidiosioochodiomociosiosiorosioshod
nooond DDZ 1.5 h1thodhoshohiohogostoriooshosdioostostiorioeoshod
oooood U0 2.0 prn1okoorogiihiotogposiooosiosloLosto7 o706l OS5
00 0000000 2.5 hiith1oiosdh1thiotogiosiioiosdhogiogiosioioodios
g0 |00ooodo jo00opoog 3.0 pasp12h1paon1 212 10009 10L0OMOOLOSLOsLO7LO7[LOSY
Hol o.16Hy [ 0. 16Hy |40 hodrachodiadhadhiadhashiohiohiohodosdogiogiooros
5.0 hagrasp1itthiiadiadhadbioiiohodiodioshosiodioros
7.0 hidi1dh1dhiidiaiithioiiohiohogdoshosiodiodios
10.0p1di1dir1dhiiidiaaiitdhiohioiiotodiosiodiodios
1490°
U Ur e n 810—0f 16166
=Ll Gl L psiagSpigigs -
g 0o gopuoguoa 0 0
4
0° ’ 2
T
/ \
l 4 \
" \
1 Y
N !
90 MIRY ’\‘
\ [ ! e
- r"r/
n \ M -~ H=
\ K"/, o
-0 . N\ = H=5
| L
| | 8
N
b0
|| .
| ||I!n
I
T
aop Sk
: ° 3 0

O0podoooogn



